950

850

750-

650

Price ($ / MWh)
S
(@)
o

w
[$)]
o

250-

150

50

Summer TBlock 1

ORDC SR - Season; Summer TBlock: 1

—— ORDC Original Proposed SR
- (ORDC Shifted Proposed SR

w
o)
o

500

1000

= (ORDC Current SR

1500 2000 2500 3000 3500 4000 4500 5000 5500
Reserves (MW)



950

850

750-

650

Price ($ / MWh)
S
(@)
o

w
[$)]
o

250-

150

50

w
o)
o

500

1000

Summer TBlock 2

ORDC SR - Season; Summer TBlock: 2

me

—,

= ORDC Oiriginal Proposed SR
- (ORDC Shifted Proposed SR
= ORDC Current SR

1500 2000 2500 3000 3500 4000 4500 5000 5500

Reserves (MW)



950

850

750-

650

Price ($ / MWh)
S
(@)
o

w
[$)]
o

250-

150

50

o))
o)
o

500

1000

Summer TBlock 3

ORDC SR - Season; Summer TBlock: 3

g

e

= ORDC Oiriginal Proposed SR
- (ORDC Shifted Proposed SR
= ORDC Current SR

1500 2000 2500 3000 3500 4000 4500 5000 5500

Reserves (MW)



950

850

750-

650

Price ($ / MWh)
S
(@)
o

w
[$)]
o

250-

150

50

w
o)
o

500

1000

Summer TBlock 4

ORDC SR - Season; Summer TBlock: 4

g

Al

= ORDC Oiriginal Proposed SR
- (ORDC Shifted Proposed SR
= ORDC Current SR

1500 2000 2500 3000 3500 4000 4500 5000 5500

Reserves (MW)



950

850

750-

650

Price ($ / MWh)
S
(@)
o

w
[$)]
o

250-

150

50

Summer TBlock 5

ORDC SR - Season; Summer TBlock: 5

—— ORDC Original Proposed SR
- (ORDC Shifted Proposed SR

o))
o)
o

500

1000

= (ORDC Current SR

1500 2000 2500 3000 3500 4000 4500 5000 5500
Reserves (MW)



950

850

750-

650

Price ($ / MWh)
S
(@)
o

w
[$)]
o

250-

150

50

o))
o)
o

500

1000

Summer TBlock 6

ORDC SR - Season; Summer TBlock: 6

U

.

= ORDC Oiriginal Proposed SR
- (ORDC Shifted Proposed SR
= ORDC Current SR

1500 2000 2500 3000 3500 4000 4500 5000 5500

Reserves (MW)



950

850

750-

650

Price ($ / MWh)
S
(@)
o

w
[$)]
o

250-

150

50

Winter TBlock 1

ORDC SR - Season: Winter TBlock: 1

—— ORDC Original Proposed SR
- (ORDC Shifted Proposed SR

o))
o)
o

500

1000

= (ORDC Current SR

1500 2000 2500 3000 3500 4000 4500 5000 5500
Reserves (MW)



950

850

750-

650

Price ($ / MWh)
S
(@)
o

w
[$)]
o

250-

150

50

o))
o)
o

500

1000

Winter TBlock 2

ORDC SR - Season: Winter TBlock: 2

L

et

= ORDC Oiriginal Proposed SR
- (ORDC Shifted Proposed SR
= ORDC Current SR

1500 2000 2500 3000 3500 4000 4500 5000 5500

Reserves (MW)



950

850

750-

650

Price ($ / MWh)
S
(@)
o

w
[$)]
o

250-

150

50

Winter TBlock 3

ORDC SR - Season: Winter TBlock: 3

—— ORDC Original Proposed SR
- (ORDC Shifted Proposed SR

o))
o)
o

500

1000

= (ORDC Current SR

1500 2000 2500 3000 3500 4000 4500 5000 5500
Reserves (MW)



950

850

750-

650

Price ($ / MWh)
S
(@)
o

w
[$)]
o

250-

150

50

Winter TBlock 4

ORDC SR - Season: Winter TBlock: 4

—— ORDC Original Proposed SR
- (ORDC Shifted Proposed SR

o))
o)
o

500

1000

= (ORDC Current SR

1500 2000 2500 3000 3500 4000 4500 5000 5500
Reserves (MW)



Winter TBlock 5

950 - ‘ | ORDC SR - Season: Winter TBlock: 5

—— ORDC Original Proposed SR
850 - ORDC Shifted Proposed SR
= ORDC Current SR

750-

650

o))
o)
o

Price ($ / MWh)
S
(@)
o

w
[$)]
o

250-

150 U

50

0 500 1000 1500 2000 2500 3000 3500 4000 4500 5000 5500
Reserves (MW)



950

850

750-

650

Price ($ / MWh)
S
(@)
o

w
[$)]
o

250-

150

50

o))
o)
o

500

1000

Winter TBlock 6

ORDC SR - Season: Winter TBlock: 6

1!

.

= ORDC Oiriginal Proposed SR
- (ORDC Shifted Proposed SR
= ORDC Current SR

1500 2000 2500 3000 3500 4000 4500 5000 5500

Reserves (MW)



950

850

750-

650

Price ($ / MWh)
S
(@)
o

w
[$)]
o

250-

150

50

Spring TBlock 1

ORDC SR - Season: Spring TBlock: 1

—— ORDC Original Proposed SR
- (ORDC Shifted Proposed SR

w
o)
o

500

1000

= (ORDC Current SR

i

1500 2000 2500 3000 3500 4000 4500 5000 5500
Reserves (MW)




950

850

750-

650

Price ($ / MWh)
S
(@)
o

w
[$)]
o

250-

150

50

o))
o)
o

500

1000

e

Spring TBlock 2

ORDC SR - Season: Spring TBlock: 2

= ORDC Oiriginal Proposed SR
- (ORDC Shifted Proposed SR
= ORDC Current SR

1500 2000 2500 3000 3500 4000 4500 5000 5500

Reserves (MW)



950

850

750-

650

Price ($ / MWh)
S
(@)
o

w
[$)]
o

250-

150

50

Spring TBlock 3

ORDC SR - Season: Spring TBlock: 3

—— ORDC Original Proposed SR
- (ORDC Shifted Proposed SR

o))
o)
o

500

1000

= (ORDC Current SR

1500 2000 2500 3000 3500 4000 4500 5000 5500
Reserves (MW)



950

850

750-

650

Price ($ / MWh)
S
(@)
o

w
[$)]
o

250-

150

50

Spring TBlock 4

ORDC SR - Season: Spring TBlock: 4

—— ORDC Original Proposed SR
- (ORDC Shifted Proposed SR

o))
o)
o

500

1000

= (ORDC Current SR

1500 2000 2500 3000 3500 4000 4500 5000 5500
Reserves (MW)



950

850

750-

650

Price ($ / MWh)
S
(@)
o

w
[$)]
o

250-

150

50

o))
o)
o

500

1000

Spring TBlock 5

ORDC SR - Season: Spring TBlock: 5

g

o

= ORDC Oiriginal Proposed SR
- (ORDC Shifted Proposed SR
= ORDC Current SR

1500 2000 2500 3000 3500 4000 4500 5000 5500

Reserves (MW)



Spring TBlock 6

950 - ‘ ‘ ORDC SR - Season: Spring TBlock: 6

—— ORDC Original Proposed SR
850 - ORDC Shifted Proposed SR
= ORDC Current SR

750-

650

o))
o)
o

Price ($ / MWh)
S
(@)
o

w
[$)]
o

250-

150

50

0 500 1000 1500 2000 2500 3000 3500 4000 4500 5000 5500
Reserves (MW)



950

850

750-

650

Price ($ / MWh)
S
(@)
o

w
[$)]
o

250-

150

50

Fall TBlock 1

ORDC SR - Season: Fall TBlock: 1

—— ORDC Original Proposed SR
- (ORDC Shifted Proposed SR

o))
o)
o

500

1000

= (ORDC Current SR

1500 2000 2500 3000 3500 4000 4500 5000 5500
Reserves (MW)



950

850

750-

650

Price ($ / MWh)
S
(@)
o

w
[$)]
o

250-

150

50

o))
o)
o

500

1000

Fall TBlock 2

ORDC SR - Season: Fall TBlock: 2

= ORDC Oiriginal Proposed SR
- (ORDC Shifted Proposed SR
= ORDC Current SR

gL

B

1500 2000 2500 3000 3500 4000 4500 5000 5500

Reserves (MW)



950

850

750-

650

Price ($ / MWh)
S
(@)
o

w
[$)]
o

250-

150

50

Fall TBlock 3

ORDC SR - Season: Fall TBlock: 3

—— ORDC Original Proposed SR
- (ORDC Shifted Proposed SR

o))
o)
o

500

1000

= (ORDC Current SR

1500 2000 2500 3000 3500 4000 4500 5000 5500
Reserves (MW)



950

850

750-

650

Price ($ / MWh)
S
(@)
o

w
[$)]
o

250-

150

50

Fall TBlock 4

ORDC SR - Season: Fall TBlock: 4

—— ORDC Original Proposed SR
- (ORDC Shifted Proposed SR

o))
o)
o

500

1000

= (ORDC Current SR

1500 2000 2500 3000 3500 4000 4500 5000 5500
Reserves (MW)



Fall TBlock 5

950 - ‘ ‘ ORDC SR - Season: Fall TBlock: 5

—— ORDC Original Proposed SR
850 - ORDC Shifted Proposed SR
= ORDC Current SR

750-

650

o))
o)
o

Price ($ / MWh)
S
(@)
o

w
[$)]
o

250-

150 -L

0 500 1000 1500 2000 2500 3000 3500 4000 4500 5000 5500
Reserves (MW)




950

850

750-

650

Price ($ / MWh)
S
(@)
o

w
[$)]
o

250-

150

50

o))
o)
o

500

1000

Fall TBlock 6

ORDC SR - Season: Fall TBlock: 6

= ORDC Oiriginal Proposed SR
- (ORDC Shifted Proposed SR
= ORDC Current SR

g

B

1500 2000 2500 3000 3500 4000 4500 5000 5500

Reserves (MW)



